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1) 5x+3y—4x+2y 2) 1.3a—2.4b+3.6a—4.7b
3) gc — gd — %c + %d 4) 2x2yx(—3xy2)

5) 6a’b+(—2ab) 6) 8pax2p a+(—4p q’)

7 (x+2y)—3x+2y 8) 2(a+2b)+3(2a—b)

9 X+2y_x—35y 10) 861;5b + 6a;3b
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1) 4x2—5y2+x2+6y2 2) 0. 5p+1.2g—0. 7p—0. 8q
Dia-%+a-% 4) (3ab)’x(—4ab’)

5) —8xy +6Xy 6) —6c-d+9c d X (—15¢cd’)
7) —(0.5a+1.2b)—3. 1a—0. 8b 8) —(Bx—4y)+6(2x+y)

9) 2 _._p 10) Aty _ Sx-2y
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1) 4x+3y=5 [(x] 2) L=4nr r]

3) 3a+2b—4c=7 (b) 4) 2y:x=3x:5 [y]

3—2) x=2, y=—4 D&LE. ROEZRDHBEELY, (4R X 37E)

1) 2(x+2y)+3(2x—y) 2) 4x2yx3xy2x+(—6xy)

4x—y x+2y
3) > + 3
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D { 2x+4y=16
X—y=2

{ y=x—1
2) _ 5
y—2x—§

3) { 0. 5x—0. 2y=-—1.8
1. 2x+1. 5y=—6. 3
4 { x:2y=5:6
X—y=2
5) { 2(x+y)+3(x—2y)=12
3(2x—y)—(x+4y)=—6
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1 { x—2y=11
4x+3y=11

2) { 2x=y+8
2x=5y—8
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4 { 9x—4y—1=1
—6x+20y+5=8

5) 2x—y=—4x—22y=16
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1) x+5y 2) 4.9a—7.1b 3) gc - %d 4) —6x°y°

5) —3a 6) —4p 7) —2x+4y 8) 8a+b

2x+11y 20a—-11b
9) re— 10) ——a
2) KE—ME 2RX10@) A =]

1) 5x°4+y> 2) —0.2p+0.4q 3) f—za — %b 4) —36ab’

5) —g—i 6) 10cd 7) —3.6a—2b  8) 9x+10y

9) 22 q0) 2L
3) KIE—fRE A B
3—1) (2/ x 48

1) x=22 2) r=r—

3) p=T"2at% 4) y=2x"

3—2) (4mx3&@)
1) 12 2) —128 3) 4



NTHERADER(BFRREIFH

2#—-98—18
4) KE—RE (45 X58) A =]
1) x=4, y=2 2) x=§, y=l 3) x=—4, y=—1

2 2

4) x=5, y=3 5) x=%, y=6

5) £IE—MRE (45 X58) A =]
1) x=5, y=-3 2) x=6, y=4 3) x=3,y=2

1,1 = =
4) X=z y=; 5) x=7,y 2



